rZ4¥XvEey FldBEELWL 2?2
Dk

oobooboooboooobooobooboooobL —obobobobo —0bo
goboobobobooboobboobooboobnbooboooboob
gbobooooooobooboboboboobooooooobooobooboo
gobooboobobooboobooobuoobooobuoobboooboo
000000000000 000000000000 ADDDOooOooOoOoO
00000000 BOOOOOOOOOUOOOOOD coooooooooo
00 A0000O000400000000000000000



ud A

Al OD0O0DO0DO0O0OO0 —OO0OO0OOO0OO0O0 —
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A3 DOUO0OOOOO
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U cooooooooo
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ek A

Al OD0ODO0D0ODOOO0D —OO0ODDOOO0O —

0001.200000000000000000000000000000
000000000000000000000000X000000000
ooooooo

00 (wave length) 000000000 X02000000000000
00000000000000003(interference) 00000000000
00000000000000000000000000

™~ 7

0A1 0DOO0OO

XO0Ooooooooooooooooloooooooooooooooo
gooooooooz20000000000000000O00O0O0O00O00OO
oooooooo d000000

lgpooooooo 100000

2X 00000 0.01x108ecm 0 10x 1078ecm 000000000000 OOOO0O
1/1000 ~ 1/100,000 OO OO
32000000000000000D0000000D000000N0N0NONDNONOONONONOONoog
oooo
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000000 ¢01000000000 /0000000 (periodic func-
tion) f(z) 00 000000000000000000f(z)0 f(z+6) = f(a)
0000000 x00000000000000000000000000
00 f(z) 0000000 ¢+000000 f(z—ot) 000000000v
00000000000 f0000000000 f(z)=asinkze000D0
(a>0)00000k=(27)/(0000a 000 (amplitude) 000000

e P, -
- ~ N N
2~ X XN . /\'\ \
4 .
0 - - K
St ~o_-

0A2 00O

00 (phase) 000000 20000 f(z—wt), f(t+a—ot) 0000
000000 200000000000000000000000000

gooboooo
flz—vt) + f(x + a —vt)

gobooboboobooboobboobuoobbooboobboon

X-Y X+Y
sin X +sinY = 2cos 5 sin ;

gooboooboo
k
f(x—vt)+f(:1:+a—vt):2acos7asin(k(z+%—vt))

k
:2cos7af(x+%—vt)

0000000000](cos ((ka)/2)|=10000 (ka)/2€7Z00000
00 «€/Z0000000000000000000000000

0A3000A00000000O0OOOO0OOXOO0AOOOODOD B
O00000000000000 X0000O000000000000000
0 APA'000000000000000000000000000000
000000a=CQ+QD=2QD000000000ZDQE =600
O000DQ =dsin 00000000 a=2dsinf 00000000000
000000000002dsind=nf 00000 n 0000000000
0000000000000000000000000000000000



A2 00000 3

A A
P
B B’
P 0
Q E
Q
0OA.3 OO

0000000000 d00b0ODOOoo0ooooo
oobooocoooocooboooooobocOoOoOoboOoOobOOoOoOoooboon
oooo

A2 ODO0ODO

000 63000000000 |||l 00B,(z) 0000000000
0000000000000 0D0OU0D0]'leCODODODOODOOD
goododddgooooooooooooboobooboooon

LO0d000000 X=(V,E)000000000000d(z,y) 0 X
000000DO000O00D000 zeV 0000 |o| =d(z,ox)(o € L)
00D000D0000000000 6400000]|— 0| =d(z,0-'2) =
d(Ul‘,x):|0'|DDDDDDDDDDDDDDDDDDDD 6400000

o+ p| = d(z,oux) < d(z,ox) + d(ox, opx)
=d(z,02) +d(z, px) = |o| + ||

0000LO00000000000000000000000000
0000000 p0000O0LO RY0O00O0 p(L) 00000000
O0000|-|0 p(L) 000000000000000D00000000
000 RE000D000000000000000000000n00 o
0n000000000lne|<nlol0000000000000000
00000000000000000000000000 € p(L) 0000
o] = lim, .. (1/n)jne| 00O00O0OOOOOOOO0OOOOOOO
000

00 A1, 0000 {a,}22, 00000 mn 0000 Gmin < m ~+ an
000000000 lim, e a,/n 000000
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00 000000000000 000000000000000000
0000000000 {c,}, 0000000000 «e00000000O0
a) 000000 n00000¢, >c—e000000b)e00000O0OO N
00000 n>NOOnOOOOc,<c+e00000 20000000
0000cO {¢,}32, 00000000000 limy_ec, 00000000
000000000lim, , ¢, 00000000000000000000
0000lim, . ¢, <lim, 0oc, 000000{c,}32, 00000000
00000000000lm, ¢, =1lim, .eoc, 000000000000
000 lim, .ooc, =lim, ¢, =lim, .ooc, 1000000020000
{en}, {d, Y2, 00000¢, <d, 0O00001m, e ¢n < limy, o0 dpy
oooooo

{a,} 000000000a, <ne; 00000000 {(1/n)a,} 000
000000, >000000000000000000m0O000000
000000 nOn=gn+7r(0<r<m)0000n0 mO0O0000
0000 ¢0000000 »r00000ay, < agm + r = qam +a, 000
ooo

1 q 1
—p < =y + —ap = —am + —ay
n n n n o m n
oododdn —oco0odordd nOO0O0U0OO0O0OOO0OOOO (n—
r)/n—1000 (1/n)a, = 00000000
— 1
Iim —a, < —a.,
n—oo n m
gooooobooooboooooooao
— 1 . 1
lim —a, < lim —a,
n—oon n—oo T

00000000000000000000000000 limp_o(l/n)a, =
lim,_,_(1/m)a, 0000000000 lim,—e(1/n)a, 000000000

—nN—00
O

an=|no|000000am4n <am+a, 00000000000000
000 o™ =lim, ..(1/n)ne|00000000000000CO |-|H™
00|e+ p['™ < ||+ ||p|"™" 0000000000000000 nO
0000 |no|"™ =nlle™ 000000000R>00000

. 1 1 4
lim _ 7 - _ : _ lim
|Ve¥ed| —kh_r)rgok|kna| nklggo —kn|kno| n|lo||
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0000n<00000 |-o|=|e|0000000O0

|-I"™ 0 RIO0OD0000DO0000D0O00000O0p(L)R0000p(L)
0 Z-000000000000 1000000000000000000
x€p(L)R00000Nx€p(L) 00000000000 ON0DODO0OO0O0
[-]" 0 p(L)R00000000000x€p(L)R00000nx € p(L)
000000 nO0O00|x|"™ =L |nx|"™ 0000000000 nOOO
0000000000000 0000nx€p(P) 000000000000
n ng000000nx€p(L)000000000 n0 ne000000ODO
O000000000n0 ne000000000n=gno+7r (0<7r<ng)
O000000rx=nx—qnox€p(L) 00000n, 00000000 DOO
000000000 p(L)R000O0 ||-|"™ 000000000

e+ y [T < [l ly 1 (x,y € p(L)9),
lex|"™ = elllx|*™  (x € p(L)?, c€ Q)

[x|'"™ =0+=x=0

000000000 100000000mx,ny € p(L) 00000 0mn(x+
y)ep(L)DODO0OO

; 1 : 1 : 1 .
e+ yl|" = —flmn(x + y) " < — [[mnx ]| + — [[may]|"™
mn mn mn

= [x|"™ + [ly "™

00000000000000000000000000
|-|" 0000 REOODODOOOOODOOOO|-||0RP0OODO0ODO

00000000 .
x| < ellx| - (x € p(L)?)

0000000000 ¢c0000O0O00O0Op(L)0O Z-000 ay,...,aq0
OOd00x==za1+---+zgxg OOOO0O0O0O0O0O0-00000000O
oo

e[ < o [fla " + - + Jzallaal

1/2 im im 1/2
< (lza? 4+ Jzal) (™) + -+ (aal™)?)

1/2

000000c= ((|la["™)*+---+ (lag|"™)?) " DOODOD0O0O0000O

gooogo
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000000000000000000000000000000000
0000000 x e REOO0OO0lm, .ollx—x,/=0000000
p(L)R 00000 {x,}°, 000000000000000000000
0000
|lim

Hlxm| - Hanhm’ < xm — XnHlim < cl|xm — Xl

00000000{|x,)"™}, 000000000000 00000 Olim, s
x| 0000000000000 0 |x|"™ 000000000000
00000000000 000000000)-|"™ 00000000000
0000000 p(L) 000000000000000000000000
Do0O000o0O0000|-|"™ 0 XO00000000000000000
0000000 |x/|le = |[x]"™ (xe RY) 00000000000 ([40])0
00000000000 6200000000000000000

A3 ODOODOOOO

ooooobooO0oOooooOoO0ooooOoOoOoOoooboOoOoO0booOoOoOoO0booa
([42)00000000000000000000000000R4 0000
000 M(d)0DODOOT e M(d)0DODOO AODDOOO ae R4
ooon
T(x)=Ax+a

0000D00D00T = (4,a) 000000000 OTy = (Ay,a1), Tr =
(AQ,&Q)DDDDD
Tng(x):Tl(Agx—Fag):Al(A2x+a2)—|—a1:A1A2x—|—A1a2+a1.
0000 (A, a1)(Az,a2) = (4142, Ajas +a;) 0000000 (4,a)" ! =
(A71,—A7ta), (A,a)(B,b)(A,a) ! = (ABA™!,—-ABA 'a+ Ab+a) O
000000000000000I0 RAO0D0O0DO0O0OO000

(A,a)(I,b)(A,a)~! = (I, Ab), (A1)

(I,a)(B,b)(I,a)"! = (B,—Ba+b+a) (A.2)
000000 (Al)0DDDOO0O00ODD M@UOODODODOOOODODOO
000000D0O0000o(dooooooooodp(d4,a)=A00000
00000 p: M(d) — O(d)0000000000p00 Kerp=p (1)
0000000oooooOo0ODODDOo000nD (I,a)«—aOOO0OOOO



A3 00000000 7

Oooo REOOODOOO
00000000 00O00oOn

00 d0000000OM(d) 0000000 GOoOOOO RY/GO
000000000000 0000000000000000000
0O0M(d) 00000000000 00000000000000000
Gx={gx;9€ G} 0O R0 000000000000 xeRIOD
oooo

O0000o0oooooo (L. Bieberbach; 1886-1982) 00O O O

00 A.l. G0 d0O000OO00O0O0

(1)H=GNRYO dODODO0O0OO0DO

(2 HO GOO00000O0DO000O000O00O0G/HOOOOOO
O000D00OHO GOODO000000000000000HOO
000000000 HOOOOOO

(3)G1,G, 0000 d0D00O0DO00O0D0OTG T '=G,000
000000000 TO000000
(4)d00000000000000000

gooooboooooboooooboooboooboooooooooooo (J.P.C.
Hessel)DDDDDDDD183ODDDDDDDDDDDDDDDDDDDDDDDDD
Joo0000o0oO000oD0oo0oDOobO0o0ooooDO0ooooDooOoooDoOon 2.5
Joo0oO0odb0O0o0ooDooobooooooooooa (A.Bravais)DDDDDDD[I
pooooboboooouboboboooooobobooooobobboboboooooo
0 14000000000000000180000000000DO00O0 (C.Jordan)[l
0000 (L. Sohncke)J O 000D (E.S. Fedorov) 1000000000 0000
OO0 A. Schoenflies0 1891 0 OO OO OO OW. Barlowd 186 DO O O0OO0OOO
2000 0000000000000 DLD0OD0O0ODU00DLDO0ODOO0DLODOOn (D.
Hilbert)l] 19000 000002000000 180000000000 OO0OO0O
jo0do00ooo0ooO00o0o0o0O0DooO004000000000D000O000O00DODOO0
200 0000000000000 0DOO0O0DOODO0OODOOO0ODOOOOODOO

00000 GUOO0O0O0ODO HOOOODODODDOO G/HOODODOOO
O0O0O0DHO GUOOOO0OD0OOO0O0O0OO0O0OD0OOG/HOODOOOO |G, H]
0000000 HO GOOO0OO0DOO0O0H,H, 0 GOOOOOOO
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O00000000H,NH, 0 GOOOO00O00000000H,,H, O
H,CH, CGUDOODOODOOOOODOOOH,O GOOODOODODOO
O000H,0GO0000D0000000O00H,O0 H,OODDOOO
O000OH, 0 GOOODOOODOO0ODOO0OO0OO0O0O0O0000H,O GOOO
0D0000000[G,Hs) =[G, Hi|[H1,H,) 000OO0D0DO

000000 HOOOOODOOODOOOODOOOOODOOOO(4,a) €G,
(I,b) e HOOODDOO(A.1) OO (A,a)(I,b)(4,a)~!t = (I,Ab) € GN
R{=HOODODOOHO GOODOOOOOOODO

(1), (3), (0000000000000 00000 (420000000

(1)0000000000000HO0O000000000000(A,a)eqG
0O HODOODDOODODOODDO(,b)O HOOOODDOODODOO
00 (A4,a)(I,b)(4,a)"t = (I,Ab) 00000(I,Ab) = (I,b) 0000
000000 Ab=b00O00HO0OO0D00O0O00000 RYOODDOOO
O000A=1000000(A,a)=(,a)e HOOODODOOOOH OO
00000000000000000

G/HOOOOOODOOODODOO0OO0D0O0OO0p(G)=K 000000000
O00p:G— KODO HOOOODDOODOOOODOOODO G/HO K
0000000000 KOOOOODOOOOOOODOOOODAe KOO
O0Op(A,a) = A000 (A4,a) e GOODODOOU,b) e HODOOOO
(A,a)(I,b)(A,a)"t = (I,Ab) DODDODDO0DAH)=H O0O0O0DOODO
000 HO Z-0000000000ADO GLy(Z)DODOODOOOO0Oo0oo
O00GLy(Z)D0DADDD A~ 000000000000000000
0 AD0DDOODODOODDO KOOOD O(d) 0 GLy(Z)OooooOo
000000(d) 00000000 GLy(Z)0DO00D00 KOOO0oOooo
oooooooo

00000 GOO0ODO0OgeGOOOO [g000 {hgh~Y; heG}OOD
0000D0S(G)000 [g)00000000000 ¢g000000000DOO
¢0000000000000000g¢g000000C, ={h€ G;gh=hg}
oooooo

geS(G)«—C,0 GOOOODOOOODO
D00000000hgh ' =Wgh'"' <= helh/C, 0000000000

0000 hgh ' elgl— hCyeG/C, 0 [¢] 00 G/C, 00000000
0000000000000



A3 00000000 9

S(G)IZI GOUO00ooouooooooooooooooag
hgigah™'=(hgih™ ) (hg2h™ "), hg 'h~t=(hgh™")"', [hgh™']=][g]

ooooooo
GOO00000D000S(G)=HOOO0O0O0O0O0O000h=(I,b)eH
00000[h = {(I,Ab); (4,a) e G} DOODDOO0O0D000A € S(G)
000D0000g=(4,a)eS(G)00000

(I,b)g(I,b)™" = (A,(I-Ab+a) ((I,b)€H)

00000000000 A=I1I0000 ge HOOODOODODODOO
00000000000o00O0 GoU0OoU0OHOO0OO0OOOOooUoo
oooo0o0o0o0ooO0ooo0oOo0oO0oOOU0ODoOOoU0OLO Gooo
0000000000000 000000D000 geL O00000OLCC,y
joooooC, 0000000000000 0o00000ddge S(G)=H
000o0O0OLcCcS(G)Doooooooooo
00000000000 000000D000000DDO%0

00 A2.0 GO d0OO0O0OODOOOO0OOOOOOODOOODOOOO
Z¢0oooooo HOO

() HOOOOODODOOOOOODO G/HODODOOOOO
(2)HO GO0O0DO0O0O0D0ODDOOOOO

000000000o0o00ooo000o 10000 HooGooooo
O (maximal lattice group) DO 00O

oo A.d. (1)K:G/HDDDDDD5DDDDDDDDDDDDDDDDDKD
00 nO000000D0Oe(n) <d0O0D00OO0O0 )0 nO0DO0O0DOO
00000 k01<k<nO00000000000000000000O0OO0
O00n=m---px* 0 n 000000000000

000000000000000000
p(1) =1, (2) =1, »(3) =2, p(4) =2, p(5) =4, ¢(6) =2, ¢(7) =6

40000000 (L. Auslander)-000000[42] 000
500000 KOOO A0000 A"=1000000000 »0000000
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oooo
1 1
=1 o= =prop(1-—) o (1= =) <o)
p1 Pk
O000000e(n) 3000000 nO 232 000000000DO0O0ODO0OO
O000e(n)<30000n=1,2,3,4,60000

(2) 0000000000000 00O0D0O0O0OODOD0O0OOODOOOOODOO
00000000000 (virtually abelian group) 00 0000000000000
000000000000000000000000 (torsion) 000000000
gooooooooooooooooooooooona

(300000 M(d)0D0D000000000000 R'0000 O(d) 0000
000000000000 GO HO KODOOOOOO0OO0Go00000000o
000000000000 ¢:KxK—HOOOODOOOOOOOOO0A€EK
00000(A,a(4) eGOO000

(4,a(A))(B,a(B))(AB,a(AB)) ' = (I, Aa(B) — a(AB) + a(A))
0O HOODODOOO
0(A, B) = Aa(B) — a(AB) + a(A)

O00O0a(A) 0 HOOOOOODOOODOOOOOODOODOOODOD 2-0000
00000000000 HO KOOOOO GU0o0oooooooooo

0000X=(V,E)DOODOO 0000000000 p: Aut(X)
— M(d) O &(gz) = p(9)P(z)(g € Aut(X),z € V) OODODODOODO
00000000 4.500p(g) = (A(g),alg)) 0000000000000
0 p0O0 p(Aut(X)) 0000000000 DOOOOOOO0O00000O
00000000000 Auwt(X)0000000000000000000
00 ¢000000000p:G— M(d)ODODOODDOOOO0DOAut(X)O
00000000000000000000000000 2200 4600
0006 0000000000D00000000000 Auwt(X)00O000
000000000000000000000000 NCAw(X)Od0O0O
000000 Awt(X)/NODODOODOOOOO (37)0000NDO pOO
Ker p=p~1(1)00000DO

0 A.1.0A40100000000000000000000000000000

0100000000 10000000000Kerp0 Z, OOO00O0O HZQZZQZ
000Ooooo][Z, 0000000000 DOOOOODOO

0000000000000 000000O00000O0O0O000 (non-
degenerated crystal lattice) 00 0000000000000 O00OOOOO
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XX XX

0A4 1000000

0000000000000000000000000000000000
000000000000 Aw(X)00O0OO00O000000000000
00000 L,000000000000000000 L,000000o0
00000L,0000000000000000000 100000000
000000000000000
Ly,000000000000 Xo= (Vo,Ey) 000D Ly O Aut(X) O
00000000000000 geAut(X) 00000

gLox = Logx (x € V), gLge = Lpe (e € E)
000 XoOOOOOooODOoooooooooooobooooooooo
miAut(X)—Aut(X,) 000000000 r 00000000
Kerm = Lo 0000000g € Kerr 0000 Loge = gloe = Lge
00000O0ge =0,e 000000 0, € Lo OOOO 10D00O00ODOO
ole)=o0(eY DODDODOO
oeo(e) = o(o.e) = o(ge) = go(e) = go(e') = o(ge’) = o(cere’)

=oe0(e') = oeole)
0000006, =0, 000000000(¢) =t(e) 0000
02t() = H{0.€) = t{ge) = gi(e) = go(’) = olge’) = o)
=og0(e) = oot(e)

000ob00O0e, =0, 000000XODOOODODODOe., 0O enDOOOOO
O00D0ecely00000O00DO0ODOOOg=0c00001

A4 DOOOODOODOOODDOODO

00000o0ooooo Xo=(Vo,Ep) DO0DOOOODODOOOOOOO
goboboooobooooooooooooooooooooooooooo
goboooobooooboooobooobooooooboboooobooOooooboo
goboooooobooooooooooooooogo
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000X, 0100000000 (homological group) Hy(Xo,R) 00O
oooooooooo 1000
Zamx (az € R)

zeVy
0 0-0 (chain) 00000000000V, OOODDODOOODOOODOOODO
aooo CO(XO,R)DDDDDDDDDDDl—DDDDDDDDDD 1000

Z ace (ae € R)

ecEy

00000000 0D0ODO0O0OD ec ExO000O0 e=—-e 000000
000o01-0000000000000000000000 C1(Xo,R)
oo0oob0oooO0oOooob 100000000000 EfO0O0O0C0OOO
C1(Xo,R) 0000000 E;0D00O0ODOODOOX, 0000000 DOO
goooo

00000 (boundary operator) 9 : C1(Xp, R) — Co(Xo,R) O 9(e) =
tle) —o(e) DDDDDODDDOOODDO 100000000 H(Xe,R) OO
000 Kerd = {x € C1(Xo,R);0x = 0} 000000000 OO0
00000 Ho(Xo,R) 0OOOOD0DOD Co(Xo,R)/9(C1(Xo,R)) OO
00000D0mMX, 00000 D0OO0OdimHy(Xo,R) =1 0000000
H(Xo,Z),Hy(X0,Z) DORDODODODOO0O0OD ZOOOOOO0O0OO00O
000000000000000000 Hy(Xo,Z) C Hi(Xo,R) O0OOO
H(X0,Z) 0 H(Xo,R) 00000000

Xo00000 ¢=(e1,...,6,) 000001-0 e1+---+e, € C1(Xo, Z)
00000 c00000000c = 00000000000000c¢ €
H,(Xy,Z)000O0000H(Xy,Z) 00000000000000000
oooDooO0o 1-oopoo0ooobooo

0 A2 (1)DDDOOOOOOOOOO
dim Co(Xo,R) — dim Cy(Xo,R) = dim Ho(Xo,R) — dim Hi(Xo, R)
=1—dim H,(Xo, R)
00000000Xo0OOOOUOO0O 000000 eOO0OOO
dim Hi(Xo,R)=1—v+e

600000E, 00000000000000{e+e ec B} 0000000000000
0000000 C1(Xo,R) 000D
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000000X,00OOODO0O0U00o0X, OOOOOOooooooooooo fO
0000000o0o0oo0o0o02300000 dimH,(Xo,R)=f000000000
0oo0ooo0o0o0o0o00o0oog er,...,e;p 000000000 Hi(Xo0,Z) O Z-O
googo

(2) Xo DOOO (spanning tree) 0000000000 Xo OOOODDOOODO
000 XoOOODOOOOOOOOOoOoOoOoUooooUoooooooooooooo
00000T7T0O0000000D00TO0O0D000O00000O dimH(Xo,R) O
gooodoodes,...,e, 0000000020 TOODOODODODODODODOe; OO
000 2o 000000 ;0000000¢1,...,¢, 0 Hi(Xo,R)O Z-0000
gooo

0OAS5 00O

00000X, 000000 K, OOOODOO1000O0ODOOOooooooooo
000000 K, OOOODODODOODO0O0DD0O0O00000 n(n—1)/200000
goooogo
n(n —1)
2

(n—1)(n—2)

dim Hy (K, R) = 5

—(n-1)=
ooooono
[II:II:IDDDDDDDDDDDDDDDDDDDDDDDDD[I[II:II:I(G.R.Kirch—
hof‘f)DDDD1845DDDDDDDDDDDDDDDDDDDDDDDDDDDDD
godoodooboooooooboooooooooooooooooooooono

oooOoooOoOoOooOoOoooOO0ob2000000000O0OO0O0O0OOOOOOOGCOOO
poooooo2000000000000000O0COO0OO0O0O0O0GCCODOO

0000000000000 DL0O0O0U0oDO0OOUDOoDOoOO ([11))o

00 A3. (1) X =(V,E) 000000000 LOODOOOOO
oooooooo0ooOoUooD XoOooooooooooooooo
w:H(Xo9,Z)— LOOODOODO

(2)Z¢000000000 LODDDO000 p: Hy (X, Z) — L



1/ OOA

00oodod0X,0OoOOooOooOoooooDLO0oDOoOOooOoooogoo
0000 d00o0o00oD Xoooooo

00 A.2. Xo0000000 Xo00X,0000 m(Xo) 0000000000
000000000X, 000000000 X0 m(Xo) 0000 T 000 Xo0O
00000000 00000000X 0 X, 0000000000000000
000000 m(Xo)/f 0000000000000 m(Xo)/f 000 X000
00000D000000000X, 000000000 m(Xe) 000000000
00000D000000000000

0000000000000000000000000000000000 (Cayley
graph) 000G 000000000ACGOO000D0000000O0OOOO0G
000000 ¢g00AODO ai,...,4, 0000 g=a1®---a,* DO00D0D00O0
1¢ A0DD0O(G,A)000000000D00000 X(G,A)=(V,E)000
000V =GO000g,heGOO000000000g=ha0000 h=gaO0O
0ecAODDDODOODDOODOOOX(G,A)O (G,A) 00000000000
000000GO V=G0000000 (h—gh) 0000000000000
0000000X(G,4A) 00000000000GO VOO0O0O00O00000
000000000000000000ge=2000 €V 000000 g=1
0000ge=e0000 ge=¢e000 ec EODODDD g=10000000
0000000000D00000000000D00000000000000000
0000 2400000000X(G,A)0 GOOO00D00OO0D00O0O0O0O0O0
0oooO0DO0oo0o0o

000GOO0000000000000000000GO000000000000
000 LO0O0OD000000LO X(G,A) 0000000000000000
00X(G,A)000D00000X(G,A) D0000000000Kerp 0000
000D0p(G)000000000000000 p:G— M(d)DOOoOooo”?
0d0 LOO0oo

00000 (1) 00000000000 ¢x00000000000000
0000 Hy(Xo,Z) 0000 ¢0000c¢00000000000 1-000
0000¢0 ¢0 XOOOOOOOOD 2600000000(6) 0 ¢(&) O
X, 00D000000000E) =00(¢) 000 o€ LODO000u(c) =0
0000

00 (2)00000L = Hy(Xo,2), p = 1000000000000

"0000000-0000000000000000000000000000000000
oooooO0ooo0o0obooOooooooooo
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H(Xy,Z) 000000000 DOOOOODOOODDOOODOODODOOOO
0 XoOOOOODOOOO (maximal abelian covering) 00000000
0Doo®0000

0 A3 (1)46000000 d000DO0O0O0ODOOOD 4160000000
goooooooooooooooooodd

(2)d0000000D100DO0O0 dO0OODDOOOODOOOOOODODO
goooooooocooooooooooooOoboOoOoObobOOOoDObOOoOooOobOoo
gooooooooooooooooboooo

e, el € EoOO0OO

1 (d=e)
e-e€=4q¢-1 (=%

0 00000000

0000000000C(Xe,R)000000000X,000 EZO Cy(Xo,
R) 000000000000

00000 Hy(Xo,R)0ODO0DO0OO0O0000000 p: Hy (X, Z) —
LOOOOOH(Xo,R) 000000 Kerp 00000000 W OODO
C1(Xo,R) 00000000000 WO Hi(Xo,R)ODODOO Wtn
H/(Xo,R)0 HOOOOH OOOO 4d00000000000000
HOOODOOOODOOO RY0O0000000L = Hi(Xy,Z2) 00000
H=H(X,,R) 0000000000000

P:Cy(Xo,R)— HOODOO00000Ker P=(W+ 0 Hy(Xo,R)) =
W+H (Xo,R): =WaH, (X,,R)- 0000000000000 ec E
O00O00ed C(Xo,R) 0000000P(e)=v(e) 00O00D0O0000O
00 {v(e)}eer, 0100000000000 000000O0OOOOODOO
0 XO0OOOOOOO0O00000000z €V 0000000zeV O
000 o(c) =mp, t(c) =2 0000 ¢c=(e1,...,6,) 0000

D(x)=v(er)+ -+ v(en)

ooooooo ¢:V —H=R{000000 000000000

8000000000 (homological universal cover) 10000
9000000000000 000000000DOONOO H=LROOOOpOOOO
000000 p® I : Hi(Xo,R) = Hi(X0,Z)®R — L®R O POOO0
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O000O0OvD FPOOOOCOODODOOOOOCODOOOOOOOOO

(1)¢00D000D000D0000 (well-definedness)0c’ = (€}, ...,el.)
O o) =w, t()=20000000

vier) + -+ vien) =v(e)) +---+v(e,)

coobooooobooobooocOoOoOoOoOoOooOobooooo

" _

=/ =/
¢ =¢cC = (€1, - yEn,Eppyyevey€q)

000000000000 ¢ 00000P(¢)=00000000000
00000u(c)=0000000¢ eW CcKerPOOOOP(¢)=00
0oooo

(2) ¢ 0000000000000 € L,z € VOOOOOo(c) = =,
t(c)=0o2z0000 c=(e1,...,6,) 00000000

P(ox) = P(x) +v(er) + -+ vien).
0000p:L— HDO
plo) =v(e1) +-+v(en) = P(co)

0O0doopoDooo00d g0 ced XoOOOOOOODOooooooooOO
Ou(co) =0 0000000000 O p(ch) =p(ce) D000 Xo OOD
000000c—¢) € Kerpp €W C Ker P 000000 P(c) = Pleg)d
000 P(e) 0 ¢ 00000000

o,0/ e LOOO0OO

(a) + plo0') = B(00'x) = B(0'x) + p(0) = B(x) + p(0) + p(o”)

000000,0000000000
p000000000000000p(e)=000000 P(e) =000

gooo
co€ H- =W @ H (Xo,R)*

0000c € Hi(Xo,Z) 000000 o € W N Hy(Xo,Z) = Ker u0 001
O0o=u(cp)=0000000

0000p(L)0 HOODODODDODOODODODODOOOLO Zéooooooo
DDRdDDDDDDDDDDDDDDDM:Hl(XO,Z)—>L|:|[||:|[||:|
goooogo /J,:Hl(XO,R)—>RdDDDDDDDDDDDDDDDDD
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000000y,...,0¢40 LO Z-00000000p(a4),...,p(0q) 0000
000 HOOOOOOOOOOOOOOOOOH 0000 d000000
p(o1),...,plcq) 0 100000000000000000O

aip(o1) + -+ agp(oq) =0

Oo000c¢,...,cq O u(Ci)ZUiDDDD XoOOOOOoOOooooa
a1P(c1) 4+ -+ aqP(cq) =0

O000000arer+---+ageq € Ker PNH(Xo,R) =W O0OOOOOOOO
DDOZM((I101+"'+Gdcd) :al,u(cl)—l----—i—adu(cd) =a101+---+taqoq
0000o04,...,0¢0 REOODDOOODOOOOG =+ =ag=0000
ooao

(3)$ 000000000000
Z vie)=0 (zeVp)
e€FEp,
000000oo0oooOo 42000000000 X, 00000000 ¢=
(e1,...,en,) 00000

Ze-c:O (A.3)

e€FEox

000000000000000000000Y ¢p, €€ Hi(Xo,R)* C
KerP0O00DO00(A3)00000000c¢0 2000000¢000
0200000000000 0000000000000 ¢ 00000

Z e-(e+e)=1+(-1)=0

e€Fo,

gooooooboooobooooon

(4)¢ 000000000000
2
> (x-vle)” =clx|* (x€H) (A.4)
ecEy
00000000000000 4300(A4) 0000 ES00ODO
2 &
> (x-v(e)” = §|I><II2 (x € H)
ecE§

00D00000v(e)=—v(e) D0DO0ES O Cy(Xe,R) 0000000
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0000O0o00ooOo0ooDoooon0 Pz-w=z-PwdOQOQOGOOd
Z (x~v(e))2: Z (X~P(e))2: Z (x~e)2:||x||2
e€Eg e€Eg e€Eg
000000c¢=2000 (A4)D0O0ODOODO
gbobobobooooobooboboboboooboooobobOoDbo

0000D00000000d00000000000000000oOOoOo0O0
obobooooooog

0 A4. 000004000000 Xo=K,000000000 X0O30000O
00o00oooooooiod K, O00OOOOoOoooooooooooooooooo

fy
0A6 K

Xo =K, DDDDDDHl(XO,Z) 0 Z-0OO0O0OO0O0oOoOoog
c1 = (e2, f1,8€3), ca=(es,fa,€1), c3=(e1,[f3,82)

ooooo0 A600|al* = llezll* = llesll? =3, ci-¢;j = =1 (i # §) 00
0000000000000000 ¢ = OP1, ¢ca = OP,, c3 = OP; 0000
ooo O,P,P,,Ps 00000P,P,Ps0 O00000000O0000DOO
000D000000000000 100000000 ¢ = (f3,f2, /1) 0000
0000 1400K, 00 X 0000000 e,6,¢3 000000000000

v(e1) = aic1 + asca +ases(a; € R) 0000
vier)rc1=er-c1=0, vier)-ca=er-ca=-1, v(er1)-cz=er-cz=1
oooooooooo

1 1
v(er) = 7102 + 103

goooooood
1

Zep — = V( )—_1 +1
461 463, €3) = 401 4027

to,1 1 11 1
v(fi) = 501"‘1024-1037 v(f2) = 101-"-502—&—1037

V(@z) =
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1 1 1
v(fs) = ch + ZCQ + 563

000000000000 vier),v(e2),v(es),v(f1),v(f2),v(fs) DOODODOOO
00000000 XOooooooooooopooooo

000X 0000000000000 10000000000c¢= (e1, f3, &2, €3, f2,
€162 f3,f2,85) 0 X 000000000000 X, 0000000000000
O00H:1(X0,Z2) 000000 ¢c0 0000DODOO ¢c0 XOOOODDOOO
goooboooooboobooooooooboooobooooboooboooooooooo
000000000 K4, OOO 1000000000000 000ooo

0A7000000000O00 K4 O00OODOOODOOODOOODOOOOOOOO
gooooooooooooboooboOoobooooooooobbooooooboa
ooo

0OA7 K,0O0O

00 A3. (1) OO0 260000 30000000000000D0O0O0ODODOOO
oooo 3000000ooO00000ooOoODO0K, 0000000000020
gooooooboooooooooboooooooooboD
(2)00000000DO0O0DOODK,.O0000DDOOOOOO0OODOOODO
ob0oooOoOoooo0oOoooOoOoooOoOoboOob02000000000000000
0000000000000 00000DoO00D®000000000D0O00Nno
goooooooooooooooooooooooo

ggbooobobooboobooobooboobobooboobboo

W gpooooo0o00000 (chirality) 0000000
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gooboood EgDDDDa:ZeeEgaeeDDDDD

lo = 3 ol

ecE§

Ooo000H(Xo,R)0O0O0OO |-, 0000000000000000O0
000000000H 0000 |+]je O

[lloe = inf{[lafl1; P(a) =x(a € Hi(Xo,R))}

000D0000000D000K ={x€H;|x| <1} 000000000

X0X,0000000000000X,000000000 Ky,...,K,
00000000000000 Hy(Xe,Z)0000000000 a,...,an
00000000

1 )
Wai (’L:].,...,TL)

0000 KOODDODOOoOoooooooooooooooooooood
00000000DO0O0OD[M40000Ono
K,000000000D00000000000000000000 1400
00003000000 240000000000000DODO0O0O0ODAO
gbobooooobobobobobooooooobooboboboobooo

o
ANAA

0A8 K,00000

000X 000D0D0000000L c Aw(X) 0000000000
00000000 X 00000000 X, 00000000000000
H\(X,,2)0 X 00D00D0D00000000 Hy(Xe,Z)CLODOOOD
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0000 H(X,Z)=L0000000LO0O0000000000 X}
00000X, 000000000 X0 X0000000000000
oo
X — X — Xy — X|

0D000X'0 X, 0OOODDOO0O0D0O000O00X 0000oooo
X'=X0000000000L=H(X},Z)00000000000X,
00000 X, 0000000000 L=H(Xy,Z) 000000000
ooooo

L = H(X,,Z) 0000000000000 00ODODO0OOOO 7 :
Aut(X) — Aut(X,) 00000000000 0000000000000
o'oooo

0 — Hi(Xo,Z) — Aut(X) — Aut(Xo) — 1.

dO00000000000000ooo0oo0ooo0oooooooooo
gobooo

ooooocoobooooooon

Uppooooo i:H—G,p:H— KOOOOO1—-H—-G—-K—-10000
0000:0000p000000 (H)=KerpOOOOOOOOOODO



B BDE

010

011 (1)0000000000000000000,ab000000000
000000,a,a+b0000000000000000000000000000
la+b| < la]|+|b| 00000,a,a+b000000000000a=0000
00a#00000b=ha0000000 hOOOOOOa=00000000
00 la+b|=|al+|b|0000la+0b=00000b=ha00000

lla+ bl = [la+ ra| = [~ +1f[[al| < |Alla]l + [[all = [la]] + [[b]|

0000000 |h+1/=|h+100000000 A>000000000000
ha+(—-1)b=00000000000000

(2) la+Db+cll < [a+b|+ el < [al + bl + [c[00DD0O0DO0
0000|a+b|| =|a)+ b 000000000000 0000000000
Ib+c| = bl +llc|, la+c||=|al+|c/| 0000D0000D0O00O0O0O00O0O
(1) 000000000000

0 1.2 3r/5=108°, 72° = 21/5.

0 1.3 00000ab< —(1/2)|a)?0000 |ja+b||? = ||al|®*+|b|*+2a-b <
la|?’00000000 |la+b| <|allO

0 1.4 (1)000020 x,yO0ODODOOa-x=b a-y=>b000000
a-(x—y)=000000a0000000000000000000000000
ooooo

(2)x; 000 a-x=b 000000x, 0000 a-x=5b000000000
0x, 0000000000 ||xe—x||00000000 k0000 x2—x; =ka

ooooogoo
by =a-xy = a(x; + ka) = by + k||a||?
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00000k=(b:—b1)/|la> 00000000

|b2 — b1
[lall

(3) 00000 a-x=b00 p= (p1.p2,p3) 00000000000 0O0OD0
000000000D00000

[Ix2 —xa1|| = [Kll|a]] =

la1p1 + azp2 + asps — b
Vai? +a2? +as?
DDDDa:(al,az,ag)DDDDDDDDDDDDDDDDDDDDDDDDDD
la-b| <|allfbl D000

la-x—a-p|=la-(x—p)| < |alllx-p|

000000x000 a-x=b000000
la-p —b|
= <|x-p|
l[all
0000000000x—p=ca0000000 ¢c0000000000000x—p
000000000000000

s -
015 OA=a OB=b,0C=c¢,OP=p00000000000000
0(1.1)00000

AP+ BP +CP = |a—pl|+ [[b - p|| + [lc - p|
>|la+b+c—3p|
000000 U0a+b+c=000000000000000000

016 (1) 0:x(3a1 —ag—ag) +y(3a2—a1—a3) —|—z(3a3—a1 —ag) =
Br—y—2)a1+(—z+3y—z)as+(—z—y+32)as 0000003z —y—2=0=
—z+3y—z2=—cz—y+32=000000000000000000z=y=2=0
oooo

— —_— == —
(2 POOOOODOOOOO DP=(1/4)(DA+DB+DC) 000000000

— —_— — — —_— = — —_— —
PA=DA-DP, PB=DB-DP, PC=DC-DP

oooooo

—_

(3DB — DA — DC),

—

— —_— = =
PA=-(3DA-DB-DC), PB=

1 1
4 4
— 1, — — @ —
PC = (3DC — DA~ DB)
DDDDDD(I)DDDDDDD 100000oo

017 00 OO0 ABCDOOUOOUUUOA,B,C,DO0O000O00OOOOOO
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0000 a,b,c,d 00000000000 1.7000000000000 |al =
bl =]lc|=|d| 00000000000 kOO0DOODOO

a'bzb'C=C~d=d~a:a~c:b~d=_%kZ.

1) OM = (a+b)/2, ON = (c+d)/200000 MN = (1/2)(c+d—a—b)

—

(b—a)-(c+d—a—Db)

= ] =

= 4(b-c—&—b-d—a-c—apd—||b\|2—|—||a||2):0.

— ——
ooooCD-MN=0000000

(2)0 ABC,ABD OO0 2000 £ZCMDOOOOOOODO
1
2
goooooono

(a—&-b)HHd— %(a—&—b)Hcos@ = (c— 1(a—l—b)) : (d— %(a—l—b)).

‘k_ 2

T S T
(c—%(a—i—b)) - (d—%(a—i—b)) - %kQ
DDDDDDDDDDDDDDCOS@:1/3DDI:ID[ID

0 1.8 goooooooooooo Ela1 = (an,alg),‘..,ak = (akl,akg),
n=(ni,n) 0000
(a1~n)2+~~-+(ak-n)2
= (a11m1 + a12n2)2 + -+ (agin1 + ak2n2)2
= (a112 +-- 4+ aklg)n12 + 2(a11a12 + - - - + ag1ak2)nineg
+ (a122 + -+ akzz)nQQ-
O000n?4+n?=10000 m,n, 00000000000 D0O00O0O

an’ 4 tap’=a12’ 4+ +far®, anaz+---+arare =0 (B.1)

00000000000000000 =100000a;0000 2 = a1 +aiev/—1
0000000000 22 = ai1® — an® +2anaixyv/—1 00000000 (B.1) O

al++a’=0

000000000000000000000000000 z,...,2 0000
{z;|¢/=1}000000000000000000000

2 2
w:cos%—l—\/—lsin%
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00000000000 wOOOOOz =wt2 (i=1,...,k) 00000000
0000000 21,...,2 000000000000000000000000000
000000z2—wz000 2r/k0000000021% -+ 2% = 2.2 (1+w? +
Wi +0*TH 0000000000000 D 14w+ 4+ 40 2=0
0000000 w=1+w?+w'+---+w?* 20000

wwFw=w+ 1t

=l4w+ -+ T+ +w+ .

0000000000000000000 w*=10000000000w#100
0w—-1=w-)W '+ 4+w+1) 00000000 4+ +w+1=0
0000000014+ ww=000000w#-100000 w=0000000
(a; - n)?+---4+(a-n)? 0000000 n00000DOOOOOODOO
O000On* 0 n000O0D0O0DO0OO0DOOO0O0O(a;-n)?4---+ (ag-n)? =
(a1 -nt)? 4+ +(ap-nH)?’000000000a; = (a;-n)n+ (a; -n)nt O
ooood|a)?=(a;-n)?+(a;-nH)? 000000
(arm)* - (ar m)* +(ar n") o (ak )’ = Jlan P+ fla® =
000000000(a;-n)?2+---+(ar-n)? =k/2000000
019 (1)L0OZ-00 by,b, 0000

a; = mi1by + ma1be, az = miab1 4+ mazbe

000000 mg; 00000000000 by,bp 00O0O0O00OO

m22 ma1
bl = a; — az,
mi1me2 — Mi12M21 mi1me2 — Mi2M21
mi2 mi1
by = — a; + ag
mii1me2 — Mi2M21 miime2 — Mi2M21

0000xe€L00000000 g,y 000 x=11b; +1y2b, 00000000
00000000000000000000000000

(Q)al,aglj L1[| Z-DDDDDbl,bQD LQD Z-DDDDDDal,aQD LQD
00 1000000o0oooooooo()ooo

b1 = z1a1 + z2a2, b2 =yi1a; + yoas

ooooOogd zi,x2,y1,y2 DO0O00OOnz,nxe,ny1,ny, DO O0O00O00OO00OO
00 nOO0O0O0Onby,nbe O Ly OO00O0O0O0O0OODODOO x € L, OOOOO
x=mbi1+nb, 0000000000 N;,ne00000nx0O L, 000000
oooo

0110 xelLOOO0O0OOx=za+ybOOOO
z,y000000000000000x=a,b00000000000x#a,b0O
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D00m<z<m+1l,n<y<n+100000 mnOOOOy =x—ma—nb,
¥ =x-m,y =y—-n000000<2,y<10000y=sa+y'b0 LO
000000y <2’ 00000000000000000000

ly —all = ll(z" = Da+y'bl| < (1 - 2" +y)|la] < ]

U00000y=a00000000000y#a000000 (2)000 |ly—al =
la| DOODOODOOOOOO (' —a+ybl|l=(1-2'+y)|a| 0000000
00000000000 2/ -1=00000 ¢ =0000000000000
0000000000000 11002 <1 000000y =000000000
la = (1—2")||a| 0000 ¢’ =00000000000y =000 x=ma+nb
00002 <y 0000000000

0111 0000000000 D0OO0OO0O00 SO0000000000000
00 S O (1/2)S000000 AOODODOOO0ODO0D0OD0DO00000000
B.100

1 1 1
T3 T 6

Py

0B.1 0O00OOO0OOOOOO

0112 = +x+x3=2k000000000000000000000000
T1€1 + 2202 + 2363 = k(€1 +e2) + (k — x2)(e1 — e2) — z3(e1 — e3).
0 113 Jai* = [lazf* = Jlas|* = 2, [lar — az[* = [Jaz — as[]* = [las —
a;|?=20000000
0114 6000000 zm+4+z2—23=0000000 B.200O
0O 1.15 OA A, 000000000POOOOCOOOOOOOO
0 1.16 p=(z1,22,23), 9= (y1+(1/2),y2+(1/2),ys+(1/2)) 00000

—

1 1 1
Pq (y1—x1+§, yz—a:2+§, ys—w3+§).
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0B.2 0000006000

0B3 0000000O0O0O0O0OOOOOOO

0O 1.17 000000000 B300oO0oOoooOoo

0118 0 B40O0O0OO0O0OO0OO0O7000000000CDO 20000000
gooooooO0ooOoOoooOoO0ooOoOo TooOO0OoOoOO0OOO0 200000
00000000000 000000'0

0B4 0000000

lgoooooo0 K, 0OODOOO 2500000
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0 1.19

= = O

1 1
0 1|=20000 |det(a1,a2,a3)|:2D
1 0

0 1.20 OB5000O

0B.5 000000000 O0DOODOOODOOO

020

021 00000SHx)=S"(x)0000 h<kOOODOOOn=k—hO
000 S"(x)=x0000000000000000 S"=7I000000

022 (1)00000 4,,000000000 a-x=bj,a-x=b,0000
00000 2100 (21)00000

T2T1Z = T1Z — ﬁ (T1Z A — bz)a

:z—ﬁ(z-a—bl)a—ﬁ(a-z—ﬁ(a-z—bﬂ”a“z—bg)a
2(()2—1)1)

llall®
oo0o00 140000000000D00OC0C0O0O0O0OODO

(2)€1,€2DDDDDDDDDDDDDDDDD&,ZQDDDDDDDDD a;-x =0,
a,-x=000000]ai]|=laz| =1 00000000a;,a, 00000 §00
O00aj-ax=cosf@ O00OODO

=z+

cos 6
7sin9a1 Maz

00000]e| =|lex] =1, e1-e,=000000000000000000000
e,e; OO O0O00OO0ODODOOODOOODOOOODOOZzZ=2xe1+yex 000

e; = ai, €2 =



30 ooB 00O

0000 zO000OO (x,y) DOOOO
ToTiz =Tz — 2(az - Thz)as
=z—2(a1-z)a; — 2(az-z)az + 4(a1 - z)(a1 - az)as
000000000 a;-az =cosf 000 az = cosfer + sinfes,z = ze; + yeq
JoDo00oo0oooooOo 200000000
ToTvz = ze; + yey — 2ze; — 2(xcosf + ysin ) (cos e + sin fey)
+ 4x cos G(cos feq + sin 6‘e2)
=((2 cos® 0 — 1)z — 2y sin 6 cos 6)e:
+((1- 2sin” 0)y + 22 sin 0 cos 6)e:
= (wcos20 — ysin20)e; + (zsin26 + ycos 260) ez
00000000 ooT7h OO 200000000000000000

023 000000000000 PR O0O00O0ODDOOOOOO p;, 000000
00 Tix=—(x—pi)+p:=—x+2p; 00000

ToTix = —Tix + 2p2 = —(—x + 2p1) + 2p2 = x + 2(p2 — p1)-

024 (1)2coser 0000000O2cosar #0,£1,£2000000ae 00
gooobooooooooboooooobooboooobooobooobbobbebOO
000D000z=cosan++/—1siner 0000000000000 00O02" =1
000000 n000000Ree2Z2000000n0000000000O0O0OO
OO0 z#+100002cosar 000000000000 OOOOOO 2cosar O
0000 p/g 000000 ag, by O

2 = apz + by (k> 2)

0o0o0o0oo000l,0 RO 1000000000ax, b, 00000000000
oooooooooooo

2% = cos2am + v—1sin2am = 2cos® ar — 1 + 24/—1 sin ar cos am
= 2cosan(cosam + v —1sinar) — 1 = 2(cosar)z — 1
00000Oaz =2cosar =p/q, bp = —10

b
axp + q ko
q

s = z(arz + bi) :ak(gz—l) + bz = —ak

ooo

axp + qb
Qppr = LT Dk g = .

O000000¢O00000000 fr, (k>2)000 ax = fi/¢" ' 00000DO
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00000000000k =200000 fo=p0O0000000kOO00000O
00000000000 fr =pfe — @ free 00000 art = frop1/q" 000
000000 frper 0 000000000

00D0z""' =20000001=an41 = far1/¢" 0000000000000
0 fon 0 ¢0D000000D00000DD0000 ¢« 0000000000
oooooooooo

00000000000000000

(2) 00000 LOODODOOOO a0 |a 0000000000007 OO
D0000000a7a0 1 0000000]a| = ||7Taj000000 1.10 00
Oab0 LO ZO00000000 T?2a=gza+yTa0d0000 z,y 0000
00000000000T"a=a000000->20000000000000
000000000000000000000000000000 21000000
la=10000000000000000000000000OOOO000000
0000000000000000000 a0 1=140/-1000000000
Ta=z=cosar++/—1siner 000000000000000000T* a0 2¢O
00000002z"=1000«00000000000000000022 =2+ yz
00000 22 =2(cosan)z—100000000002cosar 000000000
00000000000000(1) 00000 a=0,1,1/2,1/3,2/3000000
000000 e=0,10000007 0 90°,60° 0000 120°00000000
0000000000000 T™M=I1,7T°=1,7T°=10000

O0O0L 000000000000 00000000000000000000
b=TaO00007*=/00000a-b=0000000L0O000000O0O0
O00000007T=700000a-b=(-1/3)|al/|b| 00000 a,bO0O
00000000000 Z2-0000007°=70000 a,a+b0000000
000000 Z-000000a, b0 Z-0000000

025 000 |A00000 AODDODDOOOOOOOOOOOO (2.2)00
O|E|=3%,cv|E.| 000000000 |E|=2N, |E:,|=d(z) 0000000
ooooo

0 2.6 :E, — Ey) 0000000000y%(fi)=e 0000 f1€E,
000 1000000¢(t(f1)) =t((f1)) =tler) = o(e2) D0O DO OY(f2) = ez
0000 fa€ By, 000 1000000000000000000000000
0oooog

027 0Be6O0OOO

0 28 0000000O0O0OO0DOODOOODOOODOODOO ()DOOODO
000 6f=2e00000000 200000000000000000000O0
00000000000 2000000000000 2000000000000
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=

0B.6 0O0OOOO

03000000000000000000000 3v<2000000f=c¢/3
02=v—e+f00000002=(1/3)(3v—2¢)<000000000000

029 00100000000 p000000000000000000O00
0000000 900 6000000000000000000000000000
pO00000000002000000000000000000 9000000
0ooooo

0000000000000000000000000000 ¢0000000
D00000000000 4000000000000 ((9—2)/¢)r 00000
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